ERITEESRE1REZPEELRERLES ERL17E4R 248

B +100m
1#H. (+0. 3m)

vy R4 AT B oNE ek -y R4 AT B oJE ek
1 @ B (& Il %) DNS 2 SfkH (= I R ) 2 1375
3 R (R R o) 3 1475 4 BRSO ORM(EE B %) DNS
5 HERGEH (F B F %)_1 _ 1370

2% (-0. 4m)

vy R4 AT B oJE ek =y R4 AT B oJE ek
1 K FIK(ZE I H %) 4 1476 2 i KM= JI B o) DNS
3 AW ER(H R o) 1 1276 4 HAR MHECH JE f o) 3 1472
5 W AK (B 9 %) L 1276

3fH (+0. 7m)

vy R4 AT B oJE ek V= R4 AT B oJE ek
1 HiE Bz (s o ) DNS 2 R M= I R o)

3 B (LR 4 T R I hoF)

5 s EFH(CH R o)

4%H (+1. 4m)

vy R4 FT B oJE ek V= R4 AT B oJE ek
1 PKkH FERH(Z JIl H %) DNS 2 M SE (AR 52 ) DNS
3 =W —Am(H JE o) 2 1375 4 A OEXR(GR 0 F)_1 1274
5 OARH mR (% I f %) 3 1473

5% (+2. 5m)

vy R4 AT B oJE ek V= R4 AT B oJE ek
1N BAA(HEE o %) 3 1371 2 A OE(E P %) 2 12'8
3 & (/B R o) 1 1279 4 MR WS (® Il ) 5 1571
5 JUK ERCH R o o) 4 1378

6 (+2. 7m)

vy R4 AT B oJE ek V= R4 AT B oJE ek
1 WHEZ (s %)_ _ DNS 2 FE —E(H B o o) 2 1374
3 ERWIDER (% JIl o) 2 1374 4 ek fm(E I R o) 4 1378
5 flkH A CH R o) 1 1278 6 i HIE(E IR ) DNS
THH (+0. 6m)

vy R4 AT B oJE ek -y R4 AT B oJE ek
1 TR HEsR (I o) 2 1372 2 N SEE(H B oR ) 3 1478
3 AH R (H JE o) 1 1277 4 FEE (s o %) DNS
5 kg (B )R OFE) DNS

F )BT =18 A ERE L3R5



ERITEESRE1REZPEELRERLES ERL17E4R 248

8#H. (+0. Tm)

vy R4 AT B oJE ek -y R4 AT B oJE ek
1P m(HE * %) DNS 2 &@F K (E ) o F) 1 1270
3 H ZZz (W B o %) 3 1570 4 MIE EuECH B o %) 4 1774
5 B MRS CE I R ) 2 1374

9% (+1. 9m)

vy R4 FT B oJE ek -y R4 FT B e ek
I EAR EEXCH U f %) 3 1274 2 R BAR(E I R ) 1 1272
3 A KEECZE JI b)) 2 1273 0 4 A Rsm(h o # o ) 4 1275
5 fed AR (& R ) DNS

1048 (-0. 3m)

vy R4 AT B oJE ek -y R4 AT B oJE ek
1 HE w2 (M J)_1 1175 2 =i FIER(EJIET &) 4 1277
3 WE M (RU—y—2) 3 1276 4 REBLEHE (NU—Y—2) 2 1275
5 bk —#R (X U—y—=x)5 1370

1 Z 1 i Oy -
S HBE R ORb IS AT T

T ALK T

1 X i AT—y—=z) (M )

3 EME MmO > _____DNS 4 FriE )

(A F A C)___ __ DNS

1286 (+1. Tm)

v R4 AT & ONE Rk vy R4 AT & NE Rk
1 A BE (R \U—ry—x)4 11’8 2 ®¥ KRB (A F A C) 2 _ 1174
3 F% B (M J) 3 1175 4 =B FH(A F A C) 1 _ 1171
5 A ez (R M fE W) 5 1270 <1 BHA AN

F )BT =18 SRR L3R5



ERITEESIEERRELRREESR
5B +200m
L#H (+0. 4m)
vy R4 51 B ONE ek v R4 AT & A
1 FedE AR (R B ) 4 2579 2 AEEF OB (RE O F)_5
3 MRtz (R 4R) 30 2577 4 mEiE B B P %) 6
5 kM iumﬁﬁmit_ DNS 6 fliE BAR(E JI F %) 2
T OEE AR (I P ) 1 2477
2% (-1. 8m)
vy KR4 Pt B ONE ek v R4 Ft EE JiE
1 opkdh HERS (2= I R %R) 7 2778 2 | S CH R R ) 4
3 % B (M J) 1 234 4 FF (kM fE R) 6
5 &l %I(mﬁuimiﬁjL 26”2 6 Kir i (fE H + %) 3
7R KEE(E ) ) 2 2573
B¥ 400m
LHH
vy KR4 AT B ONE ek v R4 7 I
1 A EXRCE  F)_ 1 5775 2 K AR $ ) 4
3 iy Tz (fE & ) 3 6474 4 el HE(HE & B %)
5 A Rem(w % ) 2 _ 5777
258
vy KR4 Ft B ONE ek v R4 Ft & A
I N fni€ (A F A C)_2 _ 5676 2 AR BE(RT—y—2) 1
3 ¥ KB (EJIMT &) DNS
B+ 800m
LHH
-y R4 AT B ONE ek v R4 51 & A
LoHl (A & %) 10 25272 2 A E (B R )
3 WHH EANCH J5 o o5) 7 272878 4 VEE BERICH R R ) 6
5 K SR (W i o ) 5 272373 6 JnE HEX(H R R ) 8
T RN FHE (MR E) 2 20875 8 WE4 BT (MM P E)_
9 ¥hH ARFE(H B o o) DNS 10 NEFPRPEN (1 B o 52) 9
11 R et (= )1l B %) 3 271279 12 &7 H#EE(F 8 F)_
13 &% (O M R M) 4 271871 14 gy W (E AL B _1
15 P KE (=BT &) DNS

ZJIE=

FR1744H24H

S
2778
2972
2572

S
2579
2772
2575

S
7274
DNS

S
54”8

S
DNS
22779
228”5
DNS
23378
DNS
2° 0670

BAEEEHRRS



FRATEEF1RIE R AE LHRRELER

FR1744H24H

B+ 1500m
LHH
v R4 51 B ONE ek v R4 AT B ONE ek
1 2 (kBT %) DNS 2 KM MEE(K T ) 5 5425
3 R HEEE (R o F)_ _ DNS 4 RER R (H JE o %) DNS
5 fE)Il AECH B P %) DNS 6 Y%A AKFE(HF B o %) DNS
T ONERRFEN (FROBF o 42)  DNS 8 /NEFEEKRER (2 JIl B ) 2 50677
9 A KEE(E JII 1 %) 3 50971 10 #B3 fRh (2 JIl H %) 1 570573
11 ik (= ) %) 4 51173
258
v R4 AT B ONE ek vy KR4 7 B ONE ek
1 H#H & (ks %) 10 572271 2 FE BR (R R ) 8 50376
3 M FHE (MBI P 5)_ _ DNS 4 WL BT (MR S) 4 45070
5 ARHE gL (B o %2) 5 475475 6 &7 fEhH(H % o %) 7 50375
TS OER(E ) o ) 3 44773 0 8 (LR B (= JII o %) 9 50575
9 SPH B (E JI R ) 6 475972 10 Al SR (E I o %) 2 474470
11 BPRr MRS (2 BOER R W% ) DNS 12 /NEpsFE RCAE N R )1 472273

HEEE 7 3000m

LHH
vy KR4 AT B ONE ek v R4 51 B ONE ek
1 R ARt F)_  DNS 2 KB K (k + %) 7 1270371
3 B B (B B o) DNS 0 4 BHEE RS (P R o) 1 1002076
5 ik HEA (R JR R 52) 3 1073177 6 ARH SEEL(H BF R o52)  DNS
TR (R B o ) 6 117486 8 KA\ (&= JII o) 5 1172472
9 AN AE (= I F) 4 110372 10 80 EL(E I %) 2 102170
11 Fx  ECE ) F %) DNS

B+ 3000mSC
LHH
v R4 F B ONE ek v R4 Ft B ONE ek
1 A Bz (M J)___ __DNS 2 BPAT OHERR (= R AREREfH ) DNS
3 /NERSE OWICAE N M ) DNS

B+ 5000m
LHH
v R4 F B ONE ek v KR4 AT B ONE ek

Lo/ fEd (FERR 2 7)1 1673372

F )BT =18 A ERE L3R5



